
�� DHR264  �����24MM/18VX2

1 / 1:




�� DHR264  �����24MM/18VX2

Ba�# 2017/11/09

:
 1 / 4

�vN��l��

�
�� ���� �� 
� �� N/O 	�1 	�2 ��

007 921923-8 DE��C M8X120 1

008 345280-4 29 1

009 417630-4 ���� 1

010 158057-6 ��� 36 1

013 450980-4 4=� 1

014 233279-0 ��k� 4 1

015 453706-3 s�� 1

016 213278-8 �]17 1

017 158945-7 �Vjf 1

    C10 213345-9 3o 25 1

018 266560-4 �C 4X40 4

019 153290-5 eHmU 1

020 961017-7 �] E-3 2

021 417796-0 K$� 1

022 233344-5 Q�k� 4 2

023 163430-7 s�R 1

024 266374-1 �C 4X25 2

025 233929-7 k�I 29 1

026 267460-1 �] 31 1

027 233401-9 ��k� 32 1

028 227109-5 IH�V 51 1

030 158307-9  F)+� 1

031 267229-3 2G 28 1

032 331769-8 @� 9 1

033 324796-2 {/� 1

034 324402-9 ] 10 1

035 421955-0 ih 13 1

036 324216-6 ]� 1

037 213073-6 ] 9 1

038 233917-4 k�] 28 1

039 326404-1 �o 1

040 213227-5 ] 16 1

041 318132-2 	}^� 1

042 346036-8 K$R 1

043 324215-8 	}� 1

044 234098-7 ��k� 14 1

045 211012-0 �Z 606ZZ 1

046 961003-8 �] S-7 1

047 233343-7 Q�k� 7 1

048 227179-4 IH�V 10 1

049 325976-3 �V� 1

050 331992-5 ."P�V 1

051 219014-0 c*�Z 10 1

052 325640-6 @0 9 1

053 227549-7 �H�V 26 1

054 266273-7 !DE�C M4X12 2

055 346038-4 mU�R B 1

056 211032-4 mU 608ZZ 1



�� DHR264  �����24MM/18VX2

Ba�# 2017/11/09

:
 2 / 4

�vN��l��

�
�� ���� �� 
� �� N/O 	�1 	�2 ��

057 324212-4 I 8 1

058 961011-9 �] E-4 1

059 941102-2 �2G 5 1

060 233342-9 Q�k� 6 1

061 345220-2 4=�   F/DHR264 1

062 922148-7 H.S.H.�C M4X25 2

063 158944-9 !7_S 1

064 213728-3 �] 68 1

065 318392-6 !j 1

066 443143-9 �� 1

067 424185-2 f� 1

068 234097-9 ��k� 10 2

069 266273-7 !DE�C M4X12 2

070 213231-4 o3I 15 1

071 213437-4 �] 28 1

072 632828-4 ��I� 1

073 961082-6 �] WR12 1

074 331596-3 @� 12 1

075 211131-2 �Z 6001DDW 1

076 961016-9 ?T] E-10 1

077 346037-6 mU�R A 1

078 519235-7 <5� 1

    D10 INC. 73-76,79,80

079 240037-7 �g 44 1

080 210022-4 dt�Z 626DDW 1

081 620281-6 b&S 1

082 644507-2 z\� 1

083 643829-7 z\f 2

084 194928-3 z\ CB-442 1

085 266326-2 �C M4X18 2

086 644508-0 z\� 1

087 644808-8 
�Y� 2

088 620280-8 `'P 1

089 187833-1 ��S 1

    C10 263005-3 �;[ 6 8

    C20 263025-7 �;[ 4 4

    C30 346783-1 R 4

    C40 803F15-0 16Ar 1

    D10 INC. 99

090 187771-7 ��S 1

    D10 INC. 95

092 650721-0 p��� 1

093 454980-6 ��4=� 1

094 256261-2 [ 6 2

095 187771-7 ��S 1

    D10 INC. 90

096 266326-2 �C M4X18 4

097 815K38-6 8�,BAr DHR264 1



�� DHR264  �����24MM/18VX2

Ba�# 2017/11/09

:
 3 / 4

�vN��l��

�
�� ���� �� 
� �� N/O 	�1 	�2 ��

099 187833-1 ��S 1

    C10 263005-3 �;[ 6 8

    C20 263025-7 �;[ 4 4

    C30 346783-1 R 4

    C40 803F15-0 16Ar 1

    D10 INC. 89

100 815K31-0 �O DHR264 1

101 266326-2 �C M4X18 10

102 803F14-2 W�Ar 1

103 893072-0 W�Ar 1

110 194080-7 ~�S 1

    D10 INC. 111-127

111 286263-4 � 35 1

112 233940-9 k�] 19 1

113 418217-5 ~��� 1

114 345333-9 } 1

115 216022-2 |t 7 1

116 345187-4 2G 1

117 233916-6 k� 21-29 1

118 267279-8 %�] 21 1

119 324355-2  F� 1

120 216013-3 |t 6 2

121 231669-1 ��k� 31 1

122 345334-7 4y] 1

123 418218-3 4y]f 1

124 216018-3 |t 5.0 1

125 345335-5 Rk� 1

126 267270-6 %�] 24 1

127 233924-7 k�] 21 1

A01 194683-7 qu3S 1

A02 324219-0 -��X 1

A03 443122-7 > 1

A04 194079-2 x�~�S 1 *

A04-1 194079-2 x�~�S < 1

A05B ***DC18RC L
PC/195582-6 1 *

A05C ***DC18RC L
PC/195582-6 1 *

A05-1B ***DC18RC L
PC/195582-6 < 1

A05-1C ***DC18RC L
PC/195582-6 < 1

A06B 194204-5 
� BL1830 4 *

A06C 196791-0 �
�BL1840 4 *

A06-1B 196789-7 �
� BL1830 O 4 *

A06-1C 196791-0 �
�BL1840 O 4 *

A06-2B 196789-7 �
� BL1830 O 4 *

A06-2C 196976-8 �
� BL1840*_w( < 4 *

A06-3B 196974-2 �
� BL1830 < 4 *

A06-3C 197272-7 �
� M6H BL1840B < 4

A06-4B 197604-8 �
� M6H BL1830B < 4

A07B 142551-8 ��w 1



�� DHR264  �����24MM/18VX2

Ba�# 2017/11/09

:
 4 / 4

�vN��l��

�
�� ���� �� 
� �� N/O 	�1 	�2 ��

    C10 162271-8 �R 2

    C20 325636-7 �� 1

    C30 450990-1 n� 1

A07C 142551-8 ��w 1

    C10 162271-8 �R 2

    C20 325636-7 �� 1

    C30 450990-1 n� 1

A08B 450128-8 
�)Jf 2

A08C 450128-8 
�)Jf 2


